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(10) amoOJma {Z{‘©Vr H$m ©̀H«$‘
1) ""g§nyU© J«m‘rU amoOJma ¶moOZm""(SGRY)  .......... ‘Ü¶o gwé H$aÊ¶mV Amcr.

1) gßQ>§|~a 2001 2) Zmoìh|~a 2001
3) {S>g|~a 2003 4) OmZodmar 2001

1) “Sampoorna Gramin Rozgar Yojaria” (SGRY) was launched in

1) September 2001 2) November 2001

3) December 2003 4) January 2001

2) 2011-12 ‘Ü¶o EHy$U l‘eº$s‘Ü¶o, {Z`{‘V amoOJma Am{U àmg§{JH$ amoOJmamMm H$m¶ {hñgm hmoVm ?
1) ñd¶§amoOJma 32%, {Z`{‘V 18%, àmg§{JH$ 30% 2) ñd¶§amoOJma 30%, {Z`{‘V 52%, àmg§{JH$ 18%
3) ñd¶§amoOJma 20%, {Z`{‘V 18%, àmg§{JH$ 62% 4) ¶mn¡H$s Zmhr

2) What was the share of self employed, regular employees and casual labours in the total workforce

in 2011-12 ?

1) Self employed 52%, regular 18%, casual 30%

2) Self employed 30%, regular 52%, casual 18%

3) Self employed 20%, regular 18%, casual 62%

4) None of these

3) Am§Vaamï´>r¶ l‘ g§KQ>ZoÀ¶m 2018 À¶m AhdmbmZwgma ^maVm‘Ü¶o OJmVrb ...... Q> o̧$ ~oamoOJma bmoH$g§»¶m Amho.
1) 9.49 2) 10.49 3) 11.49 4) 10.91

3) According to International Labour Organization Report 2018, India has ...... per cent of world’s

unemployed population.

1) 9.49 2) 10.49 3) 11.49 4) 10.91

4) ‘hmË‘m Jm§Yr amï´>r¶ J«m‘rU amoOJma h‘r ¶moOZoA§VJ©V {‘iUmè¶m amoOJmam~m~V Imbrbn¡H$s H$moUVo {dYmZ ¶mo½¶ Amho?
1) dfm©VyZ 100 {Xdg J«m‘rU AHw$eb ì¶º$sg amoOJma {‘iVmo.
2) dfm©VyZ 100 {Xdg J«m‘rU AHw$eb Hw$Qw>§~mg amoOJma {‘iVmo.
3) dfm©VyZ 100 {Xdg J«m‘rU AHw$eb Hw$Qw>§~mVrb EH$m àm¡T> ì¶º$sg amoOJma {‘iVmo.
4) dfm©VyZ 100 {Xdg J«m‘rU AHw$eb Hw$Qw>§~mVrb àm¡T> ì¶º$s¨Zm amoOJma {‘iVmo.

4) Which of the following statement is correct regarding Mahatma Gandhi National Rural

Employment Guarantee Scheme ?

1) Employment to unskilled rural person for 100 days in a year

2) Employment to unskilled rural family for 100 days in a year

3) Employment to one adult person in an unskilled rural family for 100 days in a year

4) Employment to adult persons in a rural unskilled family for 100 days in a year

5) Imbrb {dYmZo {dMmamV ¿¶m.
A) n{hë¶m n§Mdm{f©H$ ¶moOZoÀ¶m AIoarg ^maVmVrb ~oamoOJmam§Mo à‘mU EHy$U H$Ë¶m© bmoH$g§»¶oÀ¶m 2.9% hmoVo.
~) Xþgè¶m n§Mdm{f©H$ ¶moOZoÀ¶m AIoarg ^maVmVrb ~oamoOJmam§Mo à‘mU 3.6% hmoVo.
H$) {Vgè¶m n§Mdm{f©H$ ¶moOZoÀ¶m AIoarg ^maVmVrb ~oamoOJmam§Mo à‘mU 4.5% hmoVo.
darbn¡H$s H$moUVo/Vr {dYmZ/{dYmZo ~amo~a Amho/V?
1) A Am{U ~ 2) ~ Am{U H$ 3) A Am{U H$ 4) A, ~ Am{U H$
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5) Consider the following statements.

a) Atthe end of the First Five Year Plan the unemployment rate in India was 2.9% of the total

working population.

b) Unemployment rate in India was 3.6% at the end of Second Five Year Plan.

c) Atthe end of the Third Five Year Plan the unemployment rate in India was 4.5%.

Which of the above statement/s is/are correct ?

1) a and b 2) b and c 3) a and c 4) a, b and c

6) Imbrb {dYmZo {dMmamV ¿¶m.
A) dmT> gd©g‘mdoeH$ AgVo Ooìhm Vr amoOJma {Z‘m©U H$aVo.
~) {Z¶VH$m{bH$ l‘eº$s gd}jU Xe©{dVo H$s gßQ>|~a 2021 d gßQ>|~a 2022 ‘Ü¶o g§nboë¶m {V‘mhrV 15 df} Am{U

Ë¶mhÿZ A{YH$ d¶mÀ¶m bmoH$m§gmR>r ehar ~oamoOJmarMm Xa 7.2 Q>³³¶m§dê$Z 9.8 Q>³³¶m§n¶ªV dmT>bm Amho.
darbn¡H$s H$moUVo / Vr {dYmZ / Zo ¶mo½¶ Amho / V?
1) Ho$di A ¶mo½¶ Amho 2) Ho$di ~ ¶mo½¶ Amho
3) XmoÝhr A Am{U ~ ¶mo½¶ AmhoV 4) darbn¡H$s H$moUVohr Zmhr

6) Consider the following statements.

a) Growth is inclusive when it creates jobs.

b) The periodic labour force survey shows that the Urban unemployment rate for people aged 15

years and above increased from 7.2 percent to 9.8 percent during quarter ending September

2021 to quarter ending September 2022.

Which of the statement/s given above is/are correct ?

1) Only a is correct 2) Only b is correct

3) Both a and b are correct 4) None of the above

7) {’${bßgMm dH«$ hm H$emgmR>r Cn¶wº$ Amho?
1) ^mddmT>m{VaoH$mÀ¶m AënH$mbrZ ~Xbm§Mo {díbofU
2) ^mddmT>m{VaoH$mÀ¶m XrK©H$mbrZ ~Xbm§Mo {díbofU
3) ~oamoOJmar Am{U ^mddmT>m{VaoH$mÀ¶m XrK©H$mbrZ ~Xbm§Mo {díbofU
4) ~oamoOJmar Am{U ^mddmT>m{VaoH$mÀ¶m AënH$mbrZ ~Xbm§Mo {díbofU

7) The Philips curve is useful for

1) analysing short-run movements of inflation

2) analysing long-run movements of inflation

3) analysing long-run movements of unemployment and inflation

4) analysing short-run movements of unemployment and inflation

8) ‘hmamï´> ZmJar godm (godoÀ¶m gd©gmYmaU eVu) {Z¶‘, 1981 ‘Yrb VaVwXrZwgma ...... åhUOo
a) {deof {O{H$arÀ`m ñdê$nmMr H$V©ì¶o,
b) H$m‘m‘Ü¶o qH$dm O~m~Xmar‘Ü¶o {d{eï> dmT>, ¶m ~m~tMm {dMma H$ê$Z EImÚm nXmÀ¶m AWdm emgH$s¶ H$‘©Mmè¶mÀ¶m

{dÎmbãYt‘Ü¶o doVZmÀ¶m ñdê$nmV {Xbobr dmT>.
n¶m©¶r CÎmao …
1) g§̂ mì¶ doVZ 2) H$m¶‘ nX doVZ 3) {deof doVZ 4) ¶mn¡H$s Zmhr
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8) As per the provision in the Maharashtra Civil Services (General Conditions of Service) Rules,

1981 ... viz.

a) duties in the nature of special claims,

b) an increase in the emoluments of a post or a Government servant in the form of pay, having

regard to specific increase in work or responsibility.

Answers options :

1) Prospective Pay 2) Permanent Post Pay 3) Special Pay 4) None of these

9) gßQ>|~a 2001 ‘Ü¶o Odmha J«mg‘¥Õr ¶moOZm Am{U amoOJma ¶moOZm ........... ¶m ¶moOZoV EH${ÌV H$aÊ¶mV Amë¶m.
1) g§nyU© J«m‘rU amoOJma ¶moOZm 2) ñdU©O¶§Vr J«m‘ ñdamoOJma ¶moOZm
3) àYmZ ‘§Ìr J«m‘moX¶ ¶moOZm 4) ñdU©O¶§Vr ehar amoOJma ¶moOZm

9) In September 2001 the schemes of Jawahar Gram Samridhi Yojana and Employment Assurance

Scheme have been integrated with ..........

1) Sampoorna Grameen Rozgar Yojana 2) Swarnajayanti Gram Swarozgar Yojana

3) Pradha Mintri Gramoday Yojana 4) Swarnajayanti Shahari Rozgar Yojana

10) ^maVmV H$moUË¶m àH$maMr ~oamoOJmar AmT>iVo ?
A) Nw>nr ~oamoOJmar ~) g§aMZmË‘H$ ~oamoOJmar   H$) h§Jm‘r ~oamoOJmar S>) {e{jV ~oamoOJmar
n¶m©¶r CÎmao :
1) ’$º$ A 2) ~ Am{U H$ 3) ’$º$ S> 4) ¶mn¡H$s gd©

10) Which types f unemployment are found in India?

a) Disguised unemployment b) Structural unemployment

c) Scasonal unemployment d) Educated unemployment

Answer Options :

1) only a 2) b and c 3) only d 4) all above

11) gmh{OH$M, ñdmV§Í`nyd© H$mimV H$m ©̀eº$sMm gh^mJ Xa hmoVm.
1) H$‘r 2) Cƒ 3) {H$‘mZ 4) gm‘mÝ`

11) Naturally, the work force participation rate was in pre-independence period.

1) low 2) high 3) minimum 4) normal

12) ......... EImÚm XoemV åhUOo EHy$U bmoH$g§» ò‘Ü ò H$m ©̀aV bmoH$g§» òMo à‘mU, d` Am{U qbJ aMZm, H$m‘ H$aÊ`mMr
d¥Îmr, H$m‘mMr CnbãYVm BË`mXr KQ>H$m§da Adb§~yZ AgVo.
1) H$m ©̀~b gh^mJ Xa 2) Am{W©H$ àJVr
3) Cƒ OrS>rnr 4) ‘Zwî` eº$s

12) .......... in a country i.e. proportion of working population to total population, depends upon such

factors as age and sex composition, attitude to work, availability of work etc.

1) The work force participation rate 2) Economic progress

3) High GDP 4) Man power

CÎmao

(10) amoOJma {Z{‘©Vr H$m ©̀H«$‘

1-1 2-1 3-1 4-3 5-4 6-1 7-4 8-3 9-1 >10-4
11-2 12-1


